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( Part-1
Write short answers of any SIX parts,

Solve §%° = 30x by factorization.
Write methads for solving quadeatic equition
Flag the valog of {1 —w— w" 51

Worahe the quatlistiv equistion s ey soots = 2.3

(den sl
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(57 + Tr-1+(x+ 1) ::‘é}ﬁ-ﬁ}ﬂl;’-ﬂ’w_m‘_ﬂb‘—'ﬁ‘:ﬂﬁ} iv)

Lsmg seathete divisign Dnd gquoticar and remaindcr: {11 +Tx=1+(x+1)

Sulve simultnewus equations: X +¥=3 | Ix-Jy=1
[refine direct propartion,

I RaT* and & =8 for T =13, then find the velue of T = 6
Fing the third prpomon of 6, 12,

Write short answers of any SIX parts.

Define proped fraction and give example,

Find partial frction # i

Pelme anpl»ml.m of it 5el

Woeite Demorgan's lwws.

FA=0.2.4 B={-13} fid AxB
Write all the subsets of {2,b}

Dretine range

Fird orithrmedie mean: I

Write she formula for fadi
Write short g
Comver into radian
Find ¥ soch that { =
Frove that (1-Sin@)(] + Sind) = Cos 8
Write the formuln for area of cucle

Define sector of & corche.
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Diefine ranpent 1o a eile, -’f_:._aﬂj;".t'ﬁgﬁh (i)
Showy vential angle of novirele by construction -éfrurl;,ffsr;ﬁ;ffh’;_,h, (¥

e b Flare FhEB0° 30 BudLdgem ) (il
FFa eharrd Gl mensure-dom mukies orpnghe of 807 o1 the center thien what will be the radms of cirele?

Frigect an arc of nuy lemgih intw three equal pans -ﬂ,ﬂ:{;ur‘mhfﬁiﬁﬂuuj Lix)

-hf-',n‘}ﬂ'ﬁ Ldlr;; -:l'_dfﬂﬁﬁ":,_]#r _ﬁ'{fayﬂi:‘ilirﬂf l‘}jlu

Part - 11, Attempt THREE questions, (3. 9 is compulsory. Each question carmies 08 marks.

Salve the quadratic equation by using formulat — 6x* —3-Tx =0 & S L sidahlofom (2) -5

Prove that: 04 = x Y Wy s+ wly) S ()
;ri:i =5 then prove that BO+CE+ 28 I ace ‘J'- £ _¢ G

' - == | JI

b4 f bd+df +fh Lhdf d f;{ ’

Resolve inte partal fraction: —ﬂ—;— - 1 LIF N
¥ (k=1 +2)° (% Klersz ()

S F AN N U=1123.4,56,7,8,9,10) ,A={1 S B={23,5.7 it 7
(AUBY =A'TB' 2
if U=4{L23,4,56,7,8,9,10} A={1,35.709 ={2,3, %%} then werify Demorgan's law
ie (AUBY=ATIB

(J“-'U- = 2 4 [
Students | 5 ; ¢ ;
3 | |
i 45
Markcs | 54 W 63 49
. 5inB+Co ) Siné + Cos ; )
Prove that: — tgn 8 ST 08 —f+tand el -8
Cosg ’
s 4 2P CA BC o ABLIML N2 & talbn WFABC &b (L)
S S RS

Draw cireumcircle of trisngle ABC such that the mr.;aswa:‘.uf' idis == B snd = aie Gem. 2
and dem respectively. A BOPSIOES a@. @O 80d (¢4 Are bem, Som

S BT PP TET Elats Flasbd § Ligd o ;f_é.:;t‘.‘!--..;_{'f_ifﬁlﬂnf{‘ﬁ Lf:-__,-"}i;ﬁuff:ﬁ'g; F .9
Prove that perpendicular from the center of a circle on a chord bisects it. OR
Any two angles in the same segment of a circle are equal,
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